



B.Com. DEGREE EXAMINATION — 
JANUARY, 2009.

First Year

Commerce/Computer Applications
FINANCIAL ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What are accounting concepts? Explain.

PnUQ¯À ÷Põm£õkPÒ ¯õøÁ? ÂÍUSP.

2. Prepare Trial Balance with the following balances.

	
	Rs.

	Capital a/c
	5,00,000

	Furniture
	25,000

	Debtors
	25,000

	Purchases
	2,00,000

	Sales
	3,00,000

	Sales Returns
	10,000

	Creditors
	50,000

	O/S salary a/c
	5,000

	Buildings
	3,00,000

	Machinery
	2,00,000

	Prepaid insurance
	5,000

	Stock
	60,000

	Bank
	20,000

	Cash
	10,000


RÌUPõq® C¸¨¦UPøÍU öPõsk C¸¨¦a ÷\õuøÚ u¯õ›UP : 

	
	¹.

	•uÀ P/S
	5,00,000

	AøÓP»ß
	25,000

	PhÚõÍº
	25,000

	öPõÒ•uÀ
	2,00,000

	ÂØ£øÚ
	3,00,000

	ÂØ£øÚ v¸¨£®
	10,000

	PhÜ¢÷uõº
	50,000

	öPõk£hõ \®£Í®
	5,000

	Pmih®
	3,00,000

	C¯¢vµ®
	2,00,000

	•ßTmi ö\¾zv¯ Põ¨¥k
	5,000

	\µUQ¸¨¦
	60,000

	Á[Q 
	20,000

	öµõUP®
	10,000


3. From the following particulars calculate profit.

	
	Rs.

	Capital at the beginning
	8,00,000

	Drawings during the year 
	1,80,000

	Capital at the end
	9,00,000

	Capital introduced during the year
	50,000


RÌUPõq® ÂÁµ[PøÍ öPõsk C»õ£® PõsP : 

	
	¹.

	Bµ®£ •uÀ
	8,00,000

	Gk¨¦
	1,80,000

	CÖv •uÀ
	9,00,000

	TkuÀ •uÀ
	50,000


4. A fire occurred on 30.09.02 in the premises of 
Mr. Anand from the following data calculate the claim to be lodged :

	
	Rs.

	Stock on 1.1.2002
	17,000

	Purchases from 1.1.02 to the date of fire
	1,70,000

	Wages
	17,000

	Sales from 1.1.2002 to the date of fire
	2,00,000


The rate of Gross profit is 20% on sale. The salvaged stock was valued at Rs. 4,000.

BÚ¢z Gß£Áµx PmihzvÀ 30.9.2002 AßÖ wÂ£zx HØ£mhx. RÌUPõq® ÂÁµ[PøÍ öPõsk Põ¨¥mk |èh öuõøPø¯U PnUQkP : 

	
	¹.

	1.1.2002 AßÖ \µUQ¸¨¦
	17,000

	1.1.2002 •uÀ w Â£zx |õÒÁøµ öPõÒ•uÀ
	1,70,000

	T¼
	17,000

	1.1.2002 •uÀ Â£zx |õÒ Áøµ°»õÚ ÂØ£øÚ
	2,00,000


ö©õzu »õ£ ÂQu® ÂØ£øÚ Âø»°À 20% Põ¨£õØÓ¨£mh \µUQß ©v¨¦ ¹. 4,000.

5. From the following balances prepare Sales Ledger adjustment account in General Ledger of a company.

	1997
	
	Rs.

	Jan 1
	Balance of Sundry debtors
	80,000

	Dec 31
	Credit Sales
	1,96,000

	
	Cash received from Debtors
	1,56,000

	
	Discount allowed
	4,000

	
	Bills receivable received
	30,000

	
	Returns inward
	6,000

	
	Bad debts
	9,000


RÌUPõq® ÂÁµ[PÎ¼¸¢x ö£õx ÷£÷µmiÀ ÂØ£øÚ ÷£÷µmk \›Pmk PnUøP u¯õº ö\´P : 

	1997
	
	¹.

	1 áÚÁ›
	£Ø£» PhÚõÎPÒ C¸¨¦
	80,000

	31 i\®£º
	Phß ÂØ£øÚ
	1,96,000

	
	PhÚõÎPÎhª¸¢x ö£ØÓ öuõøP
	1,56,000

	
	AÎzu uÒÐ£i
	4,000

	
	ö£ØÓ ©õØÖa^mk
	30,000

	
	ÂØ£øÚ v¸¨£®
	6,000

	
	ÁõµõUPhß
	9,000


PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. Rama commenced business as a cloth merchant on 1.4.89 with a capital of Rs. 10,000, on the same date he purchased furniture for cash Rs. 3,000. From the following particulars obtained from his books kept by single entry. You are required to prepare a Trading, Profit and Loss account for the year ended 31.3.90 and a Balance Sheet as on that date :

	
	Rs.

	Sales (inclusive of cash sales Rs. 47,000)
	1,17,000

	Purchases (inclusive of cash purchases Rs. 14,000)
	95,000

	Rama’s drawings
	11,200

	Salaries to staff
	12,000

	Bad debts written off
	500

	Business expenses
	10,700


Rama took cloth worth Rs. 500 from the shop for private use and paid Rs. 200 to his son but omitted to record these transactions in his books on 31.3.90 his sundry debtors were Rs. 5,200 and sundry creditors 
Rs. 13,600. Stock in hand on 31.3.90 was Rs. 16,500.

1.4.89À ¹. 10,000 •u¾hß µõ©õ J¸ xo Â¯õ£õµzøu xÁUQÚõº. A÷u |õÎÀ ¹. 3,000 öµõUPzvØS ©øÚ xøn¨ ö£õ¸mPøÍ Áõ[QÚõº. JØøÓ £vÄ •øÓ°À øÁUP¨£mkÒÍ AÁ¸øh¯ HkPÎ¼¸¢x GkUP¨£mh RÌÁ¸® ÂÁµ[PÎ¼¸¢x AÁ¸øh¯ 31.3.90À •iÁøh¢u BskUPõÚ »õ£ |mhU PnUøP²® A÷u ÷uvUPõÚ C¸¨¦{ø»USÔ¨ø£²® u¯õº ö\´P : 

	
	¹.

	ÂØ£øÚ (öµõUP ÂØ£øÚ ¹. 47,000 ÷\ºzx)
	1,17,000

	öPõÒ•uÀ (öµõUP öPõÒ•uÀ ¹. 14,000 ÷\ºzx)
	95,000

	µõ©õÂß Gk¨¦
	11,200

	FÈ¯¸UPõÚ \®£Í®
	12,000

	ÁõµõUPhß }UQ¯x
	500

	Â¯õ£õµ ö\»ÄPÒ
	10,700


µõ©õ ö\õ¢u E£÷¯õPzvØPõÚ ¹. 500 ©v¨¦ÒÍ xoø¯ GkzxU öPõshõº ©ØÖ® ¹. 200 uÚx ©PÝUS öPõkzuõº. BÚõÀ CøÁ HkPÎÀ £v¯¨£hÂÀø». 31.3.90À AÁ›ß PhÚõÍºPÒ ¹. 5,200. PhÜ¢÷uõº 
¹. 13,600. 31.3.90À CÖv \µUQ¸¨¦ ¹. 16,500.

7. From the following, prepare an account current as set by Arun to Bhola on 30th June 1989. Charging interest on debits at 6% and on credits @ 4% p.a.

	1989
	
	Rs.

	Jan 1
	Balance due from Bhola
	600

	Jan 10
	Sold goods to Bhola
	520

	Jan 17
	Bhola returned goods
	125

	Feb 10
	Bhola paid by cheque
	400

	Feb 14
	Bhola accepted Arun’s draft for one month
	
300

	Apr 29
	Goods sold to Bhola
	615

	May 15
	Received cash from Bhola
	700

	June 5
	Bhola accepted Arun’s bill for 3 months
	500


RÌUPõq® ÂÁµ[PÎ¼¸¢x 30.6.1989 AßÖ ÷£õ»õÂØS A¸s u¯õ›zx AÝ¨¤¯ |øh•øÓ PnUS JßøÓ £ØÔß «x 6% Ámi²® ÁµÂß «x 4% Ámi²® BsiØS PnUQmk u¯õ›UP : 

	1989
	
	¹.

	áÚÁ› 1
	÷£õ»õ uµ÷Ási¯x
	600

	áÚÁ› 10
	÷£õ»õ ÂØÓ \µUS
	520

	áÚÁ› 17
	÷£õ»õ v¸¨¤¯ \µUS
	125

	¤¨µÁ› 10
	÷£õ»õ Põ÷\õø»¯õP ö\¾zv¯x
	400

	¤¨µÁ› 14
	A¸s Áøµ¢u J¸ ©õu ©õØÖa^møh ÷£õ»õ HØÓx
	
300

	H¨µÀ 29
	÷£õ»õÂØS ÂØÓx
	615

	÷© 15
	÷£õ»õ ö\¾zv¯ öµõUP®
	700

	áüß 5
	A¸s Áøµ¢u ‰ßÖ ©õu ^møh ÷£õ»õ HØÓx
	500


8. The Machinery account of a factory showed a balance of Rs. 3,80,000 on 1st January 1997. The accounts are closed every year on 31 December. Depreciation is written off at 10% on straight line method. On 30 June 1997 new machinery was acquired at a cost of Rs. 57,783 and on the same date a machine which had cost Rs. 12,000 on 1st January 1992 was sold for Rs. 1,500 and another machine which had cost 
Rs. 1,200 on 1st January 1993 was scraped without realising anything. Show the machinery account for the year 1997.

J¸  öuõÈØ\õø»°À C¯¢vµUPnUS 1997 áÚÁ› 1&À ¹. 3,80,000 C¸¨¦ Põmi¯x. PnUSPÒ JÆöÁõ¸ Bsk® 31, i\®£›À •iUP¨£kQßÓÚ. ÷u´©õÚ® 10% ÷|º÷Põmk •øÓ°À PnUQh¨£kQßÓx. 1997 áüß 30À ¦v¯ C¯¢vµ® JßÖ ¹. 57,783US Áõ[P¨£mhx. A÷u |õÎÀ 1992 áÚÁ› 1À ¹. 12,000 ©v¨¦ÒÍ C¯¢vµ® 
¹. 1,500US ÂØP¨£mhx. ©ØöÓõ¸ C¯¢vµ® 1993 áÚÁ› 1À ¹. 1,200 ©v¨¦ÒÍx Âø»÷¯xªßÔ PÈUP¨£mhx. 1997 ® BskUPõÚ C¯¢vU PnUøP u¯õº ö\´.

9. Differentiate Receipts and Payments a/c and Income and Expenditure accounts.

ö£ÖuÀ, ö\¾zxuÀ PnUS ©ØÖ® Á¸Áõ´, ö\»ÂÚ PnUQØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

10. Eknath and Farook were partners in Joint venture sharing profits and losses in the proportion of 3/5 and 2/5 respectively. Eknath supplied goods to the value of Rs. 15,000 and incurred expenses amounting to 
Rs. 2,500. Farook supplied goods to the value of 
Rs. 20,000 and incurred expenses amounting to 
Rs. 3,000.

Eknath sold all goods on behalf of joint venture and realised Rs. 50,000. He was entitled to a commission of 5% on sale. Eknath settled his account with Farook by a bank draft. Give ledger in the books of both.

HU|õz ©ØÖ® £õ¹U Gß£ÁºPÒ CønÂøÚ JßÔÀ TmhõÎPÍõP C¸¢x Auß »õ£ |mhzøu 3/5, 2/5 GßÓ ÂQuzvÀ ¤›zxU öPõÒQÓõºPÒ. HU|õz uß\õº£õP ¹. 15,000 ©v¨¦ÒÍ \µUøP AÎzx ¹. 2,500 ö\»Ä ö\´QÓõº. £õ¹U ¹. 20,000 ©v¨¦ÒÍ \µUøP AÎzx ¹. 3,000 ö\»Ä ö\´QÓõº. HU|õz CønÂøÚ \õº£õP AøÚzx \µUøP²® ¹. 50,000US ÂØQÓõº. AÁ¸US 5% PÈÄ ÂØ£øÚ «x AÎUP¨£kQÓx. HU|õz uÚx PnUøP •izx £õ¹UQØS £nÂøh ‰»® £n® AÝ¨¦QÓõº.

÷uøÁ¯õÚ ÷£÷µmk PnUSPøÍ u¯õ›UPÄ®.

11. Give journal entries that would appear in A’s books for the following transactions :

1999

May 5
A drew three bills on B for Rs. 5,000, Rs. 4,000 and Rs. 3,000 payable at 4, 3, and 2 months respectively. B accepted the bills and returned them to A.

May 12
He endorsed the first bill in favour of his creditor C at Rs. 4,750

1999

May 19
He discounted the second bill with his bank at 12%.

May 26
B paid the proceeds of the third bill at a rebate of 9% p.a.

On the due date the first and second bills were dishonoured.

RÌUPõq® |hÁiUøPPÐUS A ß ¦zuPzvÀ SÔ¨÷£mk¨ £vÄPøÍz u¸P.

1999

÷© 5

A, 4, 3,  ©ØÖ® 2 ©õu[PÎÀ
 ö\¾zuzuUP 
¹. 5,000, ¹. 4,000, ¹. 3,000US ‰ßÖ ©õØÖa^mkPøÍ GÊv AÁØøÓ B HØQÓõº.

÷© 12

A •uÀ ©õØÖa^møh uÚx PhÜ¢÷uõº 
C-US ¹. 4,750US ©õØÔ GÊxQÓõº.

÷© 19
A uÚx Á[Q°À CµshõÁx ©õØÖa^møh 12% uÒÐ£iUS uÒÐ£i ö\´x £n® ö£ÖQÓõº.

÷© 26
B 9%, PÈÂÀ ‰ßÓõÁx ©õØÖa^mkUS £n® ö\¾zv ö£ÖQÓõº.

«m¦ |õmPÎÀ •uÀ ©ØÖ® CµshõÁx ©õØÖa ^mkUPÒ AÁ©vUP¨£kQßÓÚ.

12. From the following prepare Departmental Trading, profit and loss account and there after the combined income account for the year ended 31st December 1989.

	
	Dept A
Rs.
	Dept B
Rs.

	Stock (January)
	40,000
	–

	Purchases from outside
	2,00,000
	20,000

	Wages
	10,000
	1,000

	Transfer of goods from Dept A
	–
	50,000

	Stock (Dec. 31 at cost)
	30,000
	10,000

	Sale to outsiders
	2,00,000
	71,000


B’s entire stock represents goods from Dept A. which tranfers them at 25% on cost. Administrative and selling expenses amount to Rs. 15,000. Which are to be allocated between departments A and B in the ratio 
of 4 : 1.

öPõkUP¨£mh ÂÁµ[PÎ¼¸¢x xøÓ°ß C»õ£ |mh PnUøP²® 1989 i\®£º 31À •iÁøh²® Cøn¢u Á¸©õÚ PnUøP²® u¯õ›UP : 

	
	xøÓ A
¹.
	xøÓ B
¹.

	Bµ®£ \µUQ¸¨¦
	40,000
	–

	öÁÎ öPõÒ•uÀ
	2,00,000
	20,000

	T¼
	10,000
	1,000

	xøÓ A ¼¸¢x \µUS ©õØÓ®
	–
	50,000

	CÖva\µUQ¸¨¦
	30,000
	10,000

	öÁÎ ÂØ£øÚ
	2,00,000
	71,000


xøÓ ‘B’ °¾ÒÍ \µUP AøÚzx® xøÓ A °¼¸¢x (AhUPÂø»°ß «x 25% øÁzx) AÝ¨£¨£mhx. {ºÁõP ©ØÖ® ÂØ£øÚ ö\»ÄPÒ ¹. 15,000. AøÁ 4 : 1 ÂQuzvÀ ¤›UP¨£mhÚ.
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